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NUMBER SERIES

1. 21,208, 2015, 369. @hHSH CHTMEUUTICD, 61HFH6M6UT 6T6T01F0 M) &6
2_elTer6nT?
n=5C0 4 where, | =&6NL& 6TETIFRMI = 369
_ (369-201) _ : . _
=———+1 a=(LPGH6EL 6160 FaM)| =201
__(168) _ _ _ c .
=——+1 => 24+1=25 d = QuTgleumenr eNGHUITELD
6oL : 25
2.22+42+4 62+ +202 = ?
enZ _ n(n+1)(2n+1)
=22 (12+2%+3%+4%+.. . ..10%)
QmE.
_ _ 10(10+1)(20+1)\ _ 2310
N=10 = 2x2 (FEEDEED) - gy (2

=2%(385) =>1540

el60L_: 1540

3.12 — 22 + 32 — 42 + ... eTWILD GHMEMEUUTEN (LPGH6VL 40 6T6001F0 M) & 6rTl60T
FoLl_(HH0SHTm &M SHT6T015.

@geoi(h GMBEHL Caemaluiled @ (hbh&meL

_nm+1) _40(420+1) = _20(41)

2

=820

el6oL_: -820
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4.22 432 + - + 202 CHTMEUUINGT Fol_ (5 HCSHTEN SHEMILIG &T6H01S.

B nn+2)2n+1)

6
6n2 — 20(20+1)22(20)+1)
en2 = 20(21)(41)
6
en2 = 2870

But we should subtract 12 from the en2 becose the question start from 22
22 0 @@hEH GCaenall QFHMLMRIGEUSTEL en2 Ol(BHG 12 BHMD &HLHGHS
CousmHLD

2870-1 = 2869

eJl6mL_: -2869

1 1 1

1 .
5.3 T st ias T 1sc 98I T5DGS FLOLDTEG)?

20+5+2+1
120

L5.QuUT.LD 6T(H&&6)LD = 28/120

edlemL_: 7/30

6.(1-1/3) (1-%) (1-1/5)--------- (1-1/100) @&601 LOSHILIEDILIS SIT6T018?

606 ()
PGV MMID HML & 2 6T6w01GaMISB6NT ST LDMM MM HGILD
Hé&&6)LD
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elémL_: 1/50

7. €2(Ih eUIq.NLIEL GCHMTEMEUUTIEL, HIT6ITHTEIS) 6T6ENFa M| 2/3 LOMMILD 67T
6T600TEa M) 16/81 Y, GLD. 6T60T16L, 1& 60T (LD & 60T 61630180 M) 6T6OT6VT?

P&V 6TEUTIGR6MM  S6vorL Ml

Arf=2/3 ar®=16/81

21 16 1

373 81716

o, 8_2
T TS Ty

A(2/3)*7=(2/3)
A(2/3)%=1

edl6mL_: 9/4.

8.2,6,12,20,30... Q& QGTLIf163T 6JLOMEL G| 6T6VUForM)] 6T60T60T?
@etui(h 616001555 QenL_LILL L eGHITELD 2
Is 2+4,6+6,12+8,20+10,30+12

el6oL_: 42

1 1 1
ST mive e T

L ) ) .
= @) & 601 LDSLI6MILI SHITCTOIS.
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V2-1  V2-1
Xﬁ—1 T VZ-1

If we conjugate 1 term = N

7
=V2-1
V2-1+V3-2+4+V4—-V3+-..."/9-+8
V9 and — 1 @eumenm ey
LMMeneUsHW HESHYD Vo9-1=3-1=>2

ellemL_: 2.

10.2,10 30, 68...? QH&HS GG ML 16T 20628 6T660IE0M)| 6T6T60T?
1341=2,2342=10,33+3=30

43 + 4 = 68

203 + 20 = 8000 + 20

= > 8020

el60L_: 8020.

11. 15-LD 6T6UOTEUUTIERN (LD &6V 20 GILI(H & & MG 660 Fol (& C1& T60) S 6T60T60T?
en =15+ 30+ 45 + - ...... 300
=15[1+2+3+4+5+.......... +20]

nn+1) 20020+ 1)
en=——=15|———
2 2
=15(210)

=3150

660l 3150.

12. 12 — 22 + 32 — 42 4+ 52 — 62 + -7 @A&60 (LPGH6EV 20 61600 M) H6rNeor
FoL_ (B 0B TeMEEMILIS SHITCTI5.
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eleoL_: -120.

1 1 1 1 1 . .
13,142+ +-+ -+ Q& 61HMS FLOOMEGLD?

5.Qum.b 1(H&&6YLD = 28

_284+14+7+44+2+1 56

28 28

=2

edlemL_: 2.0

4.5 /2 4+ 5/ 6 + 5 / 18 + ..601 (IPFH6L 20 6T600&Fa M) SHereor
FoLl_(hH0SHTm&HEMUIS SHTET015.

eflenL: 2 [1 - (1)20]

3

1+24+34+........ +n=7
€k3 = €k2
36100=(1+2+3+..... ) 2

1+2+3+..... n=+v36100
N =190

edleoL_: 190

16. 300 LOOMID 500-6@& QeOLGW 11 60 UGUEBLD MmeTsHGH Quiev
6165018611160T ForL_ (5 & B TEMEE0LIG SHITEUUIS.

A = (LPG6V 616001 = 308

L = @\yevor(h 616501 = 495
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D = @\(Ih 6T6V015 (615 & (& LOMesT NG HIWLITFLD = 11

495-308
11

— =la _
— > = ()
N=18

=> en=%(a+l)

=~ (308 +495) =9 (803)
en = 7227

edlemL_: 7227

17. QamLjgsfwimenr n’ Chwenm slewuseilen CUHSGS C&HTens U6
UGHI 6187
n=1,2,3,4 %5 QBHSTEL SI60& n 4,60 LOL(HGLD QUG SHS QUIGYILD.

e60L: n!

18.2/5,6/25,18/125... Q&S QSTLIfl60T 5615 6T6501&0M)] 6T60T601?
r = (@G Hwnsid)

a == (W &eL eT6TT )

Ar"t = §x35'1/5 =2/5X 3%/5

_ 81 2 162

T 625 5 3125

()

3 9 27 81)
’5’25% 125”625

5 5

56UG)| 616001 Fa6M 6T(HHGH 2/5 6L CLHESHELD
81 2 162

6255 3125
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elenL_: 162/3125

19. 8 94,60 QUG5 5H5HTalq LI 3-Q6V&HS 6165015611601 FoL_ (h & GG Te!&?
A = (LPG6V 6160 = 104
L = &60)L_&) 616301 = 992
D= NG SHILITFLD = 8
_ (ke
n= ( 7 ) +1

(992 —-104
8

)+ 1 n=112
€n =%(a+ 1)

=56 (1096)

= 61376

el6oL_: 61376
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